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Make-up Quiz 3:
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1) What is the corrg¢ct chemjc€al formula for sodium phosphate, calcium nitrate, aluminum

o~ oxide, and iron (II) oxide: R — 5T
“ 28 4 & £ fq‘
a) Na2POs, Ca(NO3)2, Al2Os , Fe203
b) NasPOs, Ca(NO2)2, Al203 , Fex0s Noffoq) B 03)
© Na3POs, Ca(NOs),, ALOs , FeO 3" A
d) Na:SOs , Ca(NO2)2, ALOs , FeO - Q%
AL
F( 2_02
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2) What is the formula mass of NH3 and Mg(OH),? FeO

(8)) NHs= 17.04, Mg(OH)>= 58.33 = )
b) NHs= 19, Mg(OH)»= 41.32 g Na! @ 600
¢) NHi=19, Mg(OH),=58.33 L

d) NH3=17.04, Mg(OH)»=41.32

Nz, = (Nx\) 1 Q—\X%) = L\q.o\ x\) (\Lo\ ks) . (\‘o\xq
Mg (oW), = (M)« (or2) ~ (Ax2)= (243" x\) x (\er2)

‘J\ako\.\)?’: 5‘333 v

3) Imagine we have 5 moles of the MgSO4. What is the mass of this sample and determine if
this compound is ionic or molecular? My
a) Mass =755, lonic 2 .3\ :

b) Mass=755, Molecular

mc*(:‘___; ?'3\‘3:\:\9:“\(. ion =y onc

(©)) Mass=601.85 , Ionic (V600 X4 )
d) Mass=601.85 , Molecular (‘)'Lt‘a\)-\ Qaz.o(,) q My§SOy col.8S Cl
x X -
) § ™= o o TR \ mA M4EFOG MgSOy

4) Which compound name is correct?
@MnO : Manganese (II) oxide
3 élr?()ol-;) L'H(};::'E:x\ig:‘;\*e ‘de = Chromium (‘D’..) Wy dveXide
it Ydyox \ac
d) NHsNO; : Ammoniuﬁn nifxite =) Ammonivm wiXvate
wi¥rake
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5) We have 10 g of each of the following compounds. Which of them, consists of the least av
" ¢ ? i \. “’"\)»«% 3 P —_‘-\‘D\
grams of hydrogen? @ Cgw= 104 yﬁx X X =
(a) NH3 3.0 w\*s \ ma\M¥ 3 W/vé

‘ W W\ w\C \
(b) CHa L) 2 b, = \Q @ € x*_J* LW m\/'é(,( it I 8.2
AR T AT T g\ e

(d) All have the same grams of hydrogen
\ W,;,\(Lo,( PR ¢ QMU (AN L

\;\-\:\S €) T gNy = AN o gpde T mgme L oA

o N¥sz = Q\; ) (W K3)= oV K) < (\0\x3) = \F.04 YA
@ CAy = Ly\\)—‘c(\‘*&q—)"—‘- (\1-0\)&\) ~ (\xolxw) = L.05 ‘3(““
;-\7_0\ :&\-\I’\L)*(Of\\) = k\-O\Kl) A (\‘o K\) = \§.02 S/M’\

6) What is the mass of O in 50 g of sulfurous acid?

a)) 29.24 we\ Wr¥so
Dhse  Taeesoyuss ] 3 mile

19.53 ¢ X
. 5. Wy %0
c) 32.63¢ 82.08 3403 M W2 S0
d) 1634 ¢ LTS ¥ S s

\ wxo©
W2$04 = QA,)L?,).\.CSK\) + (OKB) = (\.o\ x2) _\,Csz.oc, K\) % (\GK3) = B2

7) Which sample contains the most numbgrﬂof atoms?

S 3
One gram of hydrogen ?# ‘:g"““: | aW,x \ s, i 2w é’-o‘zzx\oz i‘B{a\MS
b) One gram of nitrogen : ‘% =i

}/;(\.o\ g¥ 2 \ V“/'\'\“L" \ vy(\-\
¢) One gram of lithium

.08 %ﬂ‘

23
d) All have the same number of atoms = 5 96x\0  \ pbowms
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8) Which statement is NOT correct: 2 6.8¢31x\0°
a) The molecular formula of sulfur hexachloride is SClg s
b) HCl is a binary acid because it consists of two elements: H and Cl .~
¢) Dihydrogen monoxide is the other name of water Yl -
Magnesium (}é oxide has the chemical formula of MgO>

9) Which statement is NOT correct: Qrams

a) The value of an element’s molar mass in ki!% cam per mole is numerically equal to the
element’s atomic mass in atomic mass units

b) The mass of one mol of atoms of an element is its molar mass v~

¢) Just as the weight of 1 doz nails changes for different types of nails, so the mass of 1
mol of atoms changes for different atoms +/

d) Avogadro’s number, the number of atoms in a mole, is defined as the number of atoms
in exactly 12 g of carbon-12 v~



10) Which of the following consists of only metals?
@lead, lithium, sodium, potassium
g ; ; ; Wanmelal

b) beryllium, magnesium, calcium, neon

gy ; f’—';’*’—‘i\) ™ekalords
¢) iridium, tellurium, boron, vanadium

d) aluminum, copper, zinc, hydrogen
V\q\.\moi'a-\
11) Which of the following answers contain all metals with variant charges?
a) cesium, silver, zmm Sixed  cwarges
b) copper, zing, strontium, barium Bired chavges

s e T P .
¢) tin, mercury, silver-Jéag——

hromium, mercury, lead, tin

12) Which statement is correct?
@ The metals that form more than one type of ion are(usuall} transition metals
b) Cu and Ag are examples of transition metals that form }noﬁzgan one type of ion
¢) NH4Clis an iof%¢ compound Matecular
d) We categorize chemical formulas into three types: empirical, molecular, and m}x@‘
stivetoral

13) Which of the following is an ionic compound?
a) Mg Mmekxl ) Lo i ound (e\cmm\. t\ij)
b) NH: — W -\ ecolar

e ba\
CiCh, i
d) None of the above

14) Which of these elements DO NOT exist as diatomic molecules?
a) 1
b) H
¢) F

EDB

15) Which formula represents the greatest total number of atoms?
a Mg‘(OH)z t w24l =9
Mn(NO3)2 : \+ 2 +@x3) =9
¢) Liz (HPOs) ¢ 2 +\ .4(\~\-L\--=3
d) HC:H30: , \y 243 42=8

16) Which of the following is an acid?
&C2H302 .
b) Mg(OH) = 1onic
c¢) KClI — Lownic
d) ALO; 4 gqenic
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17) What is the mass of 23 mol of carbon monoxide? 3 ©
a) 208.23 g e, O A B 28.0\) = 64l .23
b) 101223g ° g co= 23 m,\/(ok \ 3 322 = 23x (2% ) t

() 64423 g

d) 1.22¢

VV\J\

18) A mothball is composed of naphthalene (CioHs) and has a mass of 5 g. How many
naphthalene molecules does it contain?
a) 3.01x10%

b) 3.11x10?
g 2.35x10% s
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19) Which sample has the most number of moleculcs’ | wol 0 ' GRS
a) 10 g CO " \s: )
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20) What is the mass percent composition of N in CzHgNz‘?

a) 3.36%

b) 13.44 %

) 1344 % o 2 XN x \00 ],
c)4.2 % Mass ?eiceh* Q;M\"O‘)l\'l""\‘:

q)46.6 % i (2 XC)~ &%m)*@,xm)

2 R \L\' '0\ .
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21) Which of the following is an empirical formula?
a. CeHis — can be Qim\)“gi&dé 1o Cg,\'\ |
b. CHi o~ Cun be Simg WEiled 4o EWy
c. H01 Can e S\mw\‘\%i ed 4o WO

22) What is the name of Li>CrO4? L™ 5 Cx Dt\,z_
@ Lithium Chromate Ly kT‘:,w\ Y
b. l,')(]ithium n}énochrome tetroxide chvomate

B I)?ffithium rﬁénochromide

ithi 1 ™S ON Aecdlar  Gwmpoun
d. Lithium chromite A A wolec pound

23) Write the chemical formula for a compound consisting of Cs and CI. What type of

compound do these elements form? - X A\~
a. CsCls, ioni Lo 1€ \
3 I 2% & o\"\\""lci_(‘L
@ CsCl, ionic Mekel "
c. CsClz, molecular
d. CsClI, molecular
" 20.9%
24) Calculate the formula mass of (NH4)3PO4 - o\ /,\' % o
A
e o = (Nx3) x(Ax2) A &xV)
S, Cegtes =
4 14003 x (BxU) = 1422 amu
25) Which of the following is NOT a polyatomic cation?
a. Hg?* z o
b. NH4* Slhawtd Mave = \?‘)S\“‘\‘J'c C,\*\:Lrae

@ PO > Awen
d. All of the above are polyatomic cations



